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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-3

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFE

07:35 273 150.0 2.583 5| FHA@07:35 KENFEF (CGRAfEEEE)
08:35 273 150.0 2.583 5| FMHA@08:35 KENFZEF (RA{IERELER)
09:35 273 150.0 2.583 5| FEAe09:35 KENFEFE (CRAMEEE)
10:40 273 150. 0 2.583 E(  FiHAe10:40 KREFEF CGRAERE)
11:40 273 150.0 2.583 g FiHfet11:40 KRHEFEF CREERES)
12:35 273 150.0 2. 583 5| FHAe12:35 KEIEFE CGRAFESE)
13:30 273 150. 0 2.583 F  FiHAe13:30 KREFEF (GRAEREEE
14:30 273 150.0 2.583 | FHAe14:30 KHEF (RKAEESE)
15:40 273 150.0 2. 583 5| FEAe15:40 KEIEFE CGRAMFESE)
21t 2457.0 (90%) 1350.0 3203 %EC: 2080.0, PH: 6.0

#H[EKRECE (1907.0 vs 3900.0) d 5
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P3-3

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS ERE
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Bit]1638.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0
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P3-3

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:20 278 150. 0 2.583 FA| 1B2i%@06:20 B3h (kBIEREEE)
07:20 278 150.0 2.583 FA| 1Ri&@07:20 B3 (KRAFEREE)
08:20 278 150. 0 2.583 FA| 1Bi&@08:20 B3 (KAFERLEE)
09:20 278 150.0 2.583 FA| {Ri%@09:20 Bz (GRAMEEE)
10:40 278 150.0 2.583 FA| 1B2i%@10:40 B3zh (KBRS
12:05 278 150.0 2.583 FA| 1BRi%@12:05 B3h (RAERSE)
14:50 278 150.0 2.583 [/\ii| {Rig@14:50 Bz (RAEDSE)
21t 1946.0 (7%) 1050.0 32 #KEC: 2080.0, PH: 6.0

#H[EKRECE (2087.0 vs 4547.0) 35
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BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:35 278 150.0 2.583 FA| 1E21%@06:35 B3zh (FkBEREE)
07:25 278 150.0 2.583 FA| 1Ri%e07:25 Bz (REAERSE)
08:15 278 150. 0 2.583 FA| 1Ei%@08:15 Bz (kAHERSE)
09:15 278 150.0 2.583 PH| 1{Ri%@09:15 Bz (RAEES)
10:30 278 150.0 2.583 FA| 1BRi%@10:30 B3h (KRAMERESE)
11:25 278 150.0 2.583 FA| {Ri%@11:25 Bz CGRAERESE)
12:10 278 150.0 2.583 FE| 1Ri&@12:10 B (RS
12:55 278 150.0 2.583 FA| 1Ri%e12:55 B (KAHERESE)
13:45 278 150.0 2.583 FA| {Ri%@13:45 Bz (CGRAERE)
15:05 278 150.0 2.583 FE| 1Ri&@15:05 B (RAERSE)
16:35 278 150.0 2.583 FA| {Ri%@16:35 Bz (GkAEEE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

FHERECE (2220.0 vs 4663.0) 35
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P3-3

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:55 273 150.0 2.583 5| {Ri%@06:55 Bz (KRAERSE)
07:40 273 150. 0 2.583 E BRi&e07:40 Bz (GRAERSE)
08:20 273 150.0 2.583 F  BRi%e08:20 BE1 (RAERE)
09:25 273 150.0 2.583 (£ =| {Ri%@09:25 Bz (REERSE)
10:15 273 150. 0 2.583 |Z=| 1BRi&e10:15 Bz (CGRAEREE)
11:00 273 150.0 2.583 |Z=| {Ri&e11:00 Bz (REEBSE)
11:45 273 150.0 2.583 (Z=| 1Rige11:45 Bz (REAERSE)
12:30 273 150.0 2.583 (Z=| {Ri%e12:30 Bz (REAEHSE)
13:10 273 150.0 2.583 5| 1RiRe13:10 B35 (REAEES)
13:50 273 150.0 2.583 = RRiB013:50 B (RFAKESE)
14:40 273 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:35 273 150. 0 2.583 El 1BRi&e15:35 Bz CGRAEREE)
16:45 273 150.0 2.583 (Z=| 1Ri%e16:45 Bz (REAEBSE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#H[EKRECE (2323.0 vs 4680.0) i d 5
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P3-3_0, Day=61 (2025-05-29)

L e e o T e TR e e p L 3000
VI, VPSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2640
2300 2300 295

100 - 739 727 2000

50 - 1000

FRV (ml d-1)
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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